EARAZROREIERT — 2 N—XBISY —F 2019558 28H (k) 5EIZHETH

M C 1 6% 7% —#% ‘ Xz & ‘ (EsEl - | 4 (&) 14000 B

[A&£] 1% :270,000™ ~ 23#%&:76,000 M  33%&:43,000”  43%&:27,000H . 57 :16,000

& % B mEBR Mk ME BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
Q 44 | BWHFA 1:33.0 1-1-1-1 | 40.3| — 7 456 BEk (BEHE)

1 7 AR —7— 54.0 (=) (-5) |TREAR
L:Z2ZXHvR B:7A-TF%v b ESiatie]

2lglio| 7+ 7A—=7 £ 4| AR (20 3-4-3-2 [40.8| — | 3 (412) i)%%)?ﬁefp(ﬁgg)
LN—=VTF4 B:IANCNY— At A

3011 |/ FHTI4X o4 E%I%EI 1:(334).7 6-6-7-7 |41.1| — 5 ;4_213) g;ﬁé (BHR)
/KRRy Iv— B/RLA 2 R— YONRILT T — L

< SHE : 20 - B

4 o| L1177 — o4 54%&* 1(/7311:? 2-2-2-3 | 41.8 2 (329) g;’gﬁ_ (BHE)
R:ZAZXHT 1=y X B:XXHT7A-F V5 &) 4G

5155 71—>XZ8 1IN # 5 %g;ﬂ% 1:(325).2 43-4-4 |42.0| — | 6 | 48 iﬁ%ig%&ﬁ&)
Rix L THANAN BNAZILIEL) G7) ESitie]

6lgli1| Z1T>7Z3y k # o4 sué'%#m (11:315/.25) 7888 |4.7| — | 4 (4_917) tyﬁ%ié (ZEE)
L:NZ—k21—X B:514>Tzvh INRIS

d - st LR | gy e e - D L e
L:7L>FFEaTs BAEY-QOTI-0L Bllikie]
== 4 5 | 3 LEBAE 1:35.9 11-10-10-10{ 41.3 | — 9 433 | BB (BEHE)

sfde| 7771 5.0 @ ) Jr—ZARETI>
QAFAT—NE B AT — SN TSy

9 R EPADE 5 | BERA 1(:13/62.>0 8-7-55 (426 — | 8 <3+917) fﬁ%é (BHE)
LihoX=Z— B:757—I/XX REE &

107] 9| KI¥ XL TEL H 5 éﬁéi_«%ﬂ— (12316/25) 9-9-9-9 |42.4| — | 11 (5_011) ﬁzg)ﬂﬁi_(ﬁf}%)
RIAYFEaT1 BAIFLTTT— ERT 7 — LI

1lzlg|7¥—747 i 5 | MERAE 1:(337).1 10-11-11-11] 42.3| — | 10 | 462 fm{ﬁlﬁﬁ (BER)
Qi s RT—NEY Bi41F XA R S

@ 11— —@EBIRfL

| 2=zr= 7,2,10,5,3,1,11,4,9,8,6
2R == 7,2,5,10,3,1,4,11,9,6,8
Ja=zr= 7,2,10,5,4,3,1,11,9,6,8
43 —F— 7,10,2,5,4,3,1,11,9,6,8
o LRE
BB 7 2,820H 71K 7-10 2,040M 3 6-8 3,740H 3HER 1-7-10 40,430M
7 B 7 270H 1-7 6,650M 5= 7-10 8,160M 3EE 7-10-1 215,250H
10 280M 1-10 2,460M 5B 7-10 21,410
1 340MH

ABICOVWTRDTEEERROODE. TR LIV,



